Oxidation Rules 
1. The rule is that the cation is written first in a formula, followed by the anion. 

Example: in NaH, the H is H-; in HCl, the H is H+. 
                 +   -                         +  -
2. The oxidation number of a free element is always 0. 

Example:  The atoms in He and N2, for example, have oxidation numbers of 0. 
3. The oxidation number of a monatomic ion equals the charge of the ion. 

Example: oxidation number of Na+ is +1; the oxidation number of N3- is -3. 
4. The oxidation number of oxygen in compounds is usually -2. 

5. The oxidation number of a Group 1 element in a compound is +1. 
6. The oxidation number of a Group 2 element in a compound is +2. 
7. The oxidation number of a Group 3 element in a compound is +3.

8. The oxidation number of a Group 7  element in a compound is -1, except when that element is combined with one having a higher electronegativity. 
9. The sum of the oxidation numbers of all of the atoms in a neutral compound is 0. 

EX: CO2 = we know O = -2 and there are 2 O’s and CO2 is neutral so 

                                                          C + 2(-2) = O 

                                                          C = +4
10. The sum of the oxidation numbers in a polyatomic ion is equal to the charge of the ion. 

EX:  the sum of the oxidation numbers for SO4 2- is -2. 

                                                       S + 4(-2) = - 2

                                                        S = +6 
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Lithium  Li(s) — Li*(ag)
Potassium  K(s) — K*(ag)

Hydrogen Hp(g) — 2HY (ag)
Copper  Culs) — Cu2*(ag)
Silver Agls) — Ag*(a)
Mercury  Hgll) — Hg2" (ag)
Platinum ~ Pt(s) — Pr2+(aq)
Gold Auls) — At (ag)
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Barium  Bas) — Ba?(ag) + 2~
Calcum  Ca(s) — Ca®*(ag) + 2~
Sodium  Na(s) —» Na¥(ag) + e~
Magnesium Mg(s) — Mg2*(ag) + 2e”
Aluminum Al — AB*@g)  +  3e”
Manganese Mn(s) — Mn2*(ag) + 2e”
Zinc Zn(s) — Zn2*(ag) +  2e7
Chromium Cr(s) — Cr3*(ag)  +  3e”
Iron Tes) — Fe2t(@g) + 2e”
Cobalt Cols) — Co2*(ag) + 2¢7
Nickel Nis) —= Ni2*ag) 4+ 2e”
Tin sn(s) —= Sn2tag)  +  2e”
Lead Pb(s) —= Po2t(ag) 4+ 2e”
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